Stata: ice

1. First, we need to obtain the ice() program.

Help -> Search -> "multiple imputation ice", Search all

It should be the first link; st0067_2 from Patrick Royston

Click on it, then hit (click here to install)

2. Load your data into stata and run ice:

ice has a fairly impressive help file.  I'll only cover the main points; type

"help ice" for the full set.

Syntax:

ice mainvarlist using filename[.dta], cmd(cmdlist) draw[(varlist)] m(#)

passive(passivelist) substatute(sublist) seed(#)

mainvarlist: type out the name of every variable you want included in the

multiple imputation

filename[.dta]: what you want to name the output file.  If you type "using

impdata", Stata will save a dataset impdata.dta in C:\Statadata\  (or wherever

you have your Stata temporary data directory set, I believe)

cmd: here's where you specify how to treat variables.  Automatic settings:

binary variables get logistic regression, variables with 3-5 categories get

multinomial logistic regression, 6+ values get treated as linear variables.  If

you wanted to specify the variables "race" and "site" to be categorical and

"agecat" to be linear, you'd type: cmd(race site:mlogit, agecat:regress)

draw: Oddly, Stata's method for dealing with continuous variables is predictive

mean matching unless you use this option.  It's counterintuitive, and I just

noticed this about ten minutes ago.  I'd leave this option alone.

m(#): replace # with the number of imputations you want to have

passive: Here's where things get fun.  For variables that depend on other

variables (like interactions), this is the command for it.  Ice's help file has

some good examples.

substitute: Goes with passive.  Unless you use this, ice() will not break

categorical variables up into dummy variables when they're used as predictors.

Again, the help file has a good example for this.

If you want to do your analyis in Stata, look at "help micombine" (comes with

ice), and see if your analysis method is allowed with it.  If it is, great!  The

syntax for getting it to work is fairly straigtforward; take a look at the

examples in "help micombine".

When I've implemented ice, I did it with this code:

ice educ mmselast npdage npgender npnit nit2 npcerad cerad2 npbraak brk2 npneur

neur2 gendedu gendmmse gendage edummse eduage mmseage edunit educera edubrk

eduneur mmsenit mmsecera mmsebrk mmseneur using imputed1, passive(nit2:

npnit*npnit \ cerad2:npcerad*npcerad \ brk2:npbraak*npbraak \

neur2:npneur*npneur \ edunit:npnit*educ \ educera:educ*npcerad \

edubrk:educ*npbraak \ eduneur:educ*npneur \ mmsenit:mmselast*npnit \

mmsecera:mmselast*npcerad \ mmsebrk:mmselast*npbraak \ mmseneur:mmselast*npneur)

m(5) cmd(npnit npcerad npbraak npneur:mlogit)

Note that I'm not breaking any categorical variables up into dummy variables!

I'm just including a lot of interactions.  Remember that any variables that you reference in "passive" or "substitute" have to be created beforehand in your

dataset!

